Physics 1100

The Mechanical Equivalent of Heat

Here is some data needed for your analysis.

Object Mass
Cylinder 202.7 grams
Can (hanging mass) 9.95 kg

This is a photograph of the cylinder that we are transferring energy into.

The outer diameter (of its center portion) is of interest. This is where our rope is seated. A pair of
Vernier calipers were used to measure this diameter.

The following two photos allow you to obtain this length.



Use this photo to determine the first two digits.
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Next, rope was wound around the cylinder so that the diameter of the cylinder plus rope could be
determined. Use the following two photos to measure this new diameter.
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Here’s a photo of temperature versus resistance that is printed on the side of our unit.




